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import sys
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sys.path.append("statlib")

from xtest import boheikin

boheikin(n, xbar, U=None, mu=0, sigma2=None, conflevel=0.95, verbose=True)

51%%

n

xbar
mu
sigma2

conflevel

verbose

KD EDHH

e
"qEn
"pvalue"
"confint"
"method"
"data"

n_n

z

BRY A X

B

FEANMR T H (R BRI DG A IR ET %)

R (77 200 ME 0, BEXEZHEE T 272005 AICET 74V FTI LoD
Z78\)

ROH (RSO EICEET 2, BB TH 2 &V HIRIUZIZEA
ERVTHAHD)

BHEEZ 0 1 OHIPHICIEET 2, 77 4L FiE0.95 (95% {SHEIX )
BB 7Y v RT3

BT BOSRRI D& OBUER TR ¢
HH

p 18

B

Fkt

ANIT—%

BET BRI D35 6 OBUER AT 2



3 {ERH
3.1 BHEHERA
Rl U iEET

import sys
sys.path.append("statlib")
from xtest import boheikin

a = boheikin(31, 157.8, U=24.6, mu=156.2)

ZRT—=IICEDBFHORTE EHE (BOBDRAND L E)
n = 31, mean = 157.8, variance = 24.6, U = 156.2
t =1.7961, df = 30, p value = 0.08255, CL = [155.98, 159.62]

3.2 B EHEEA

sigma2 Z{HET 5

a = boheikin(31, 157.8, sigma2=25.5, mu=156.2)

ZRT—IIELZBFIORELHETE (BOBHBRHMOLEE)
n = 31, mean = 157.8, M = 156.2, 02 = 25.5
Z = 1.7641, p value = 0.07771, CL = [156.02, 159.58]



